1 _”The equatron of the hne Jommg the pomts (1 -1 2) and (4 2 3) 1s grven by i

s R Answer ALL' quesuons
ALL questlons carry EQUAL marks
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SECTION B (15 Marks ',fﬂ_. R
L - Answet ALL Questions - AR LI
ALL Questlons Carry EQUAL Marks (5 x 3 = 15)

6 "-'L-‘.:. a | _Flnd the equatron of the plane through the mtersectlon of the planes j,

S ) b -:_':'l'._;s:Flnd the angle between the lme ——2—-— = ? == 6

S 3x y+ 2z-4=0 and x+y+z-2~0 and passmg through the pomt (2 2 1)
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B a Flnd the equatlon of the sphere whlch has 1ts centre at the pomt (—1 2 3) and*";v}_ T

[touches the plane 2x y+2z 6
(OR)

e ) 2, b Fmd the equatron of the sphere whrch touches the sphere

LR + y +z +2x 6y+1 O at the pornt (1 2 -2) and passes through the orlgm e

B & o a:-iv, ’; 2 ', Derlve the equatlon of the rlght mrcular cone whose vetex is at (0 0 1),

whose axrs is the z-axis and whrch has-a semr-vertlcal angle of 30 _ i o
o ' (OR) ' S T



o “ _I.,’._agefzsal. T

Cont

©wwaws

o

- hne Jomlng (0 O 0) t0 (1,1,1)

” -lmes -

: .,' If x=-“-;- 3 epresent one of a set of three mutually perpentrcular Lo

» f'"_generators of the cone 5 yz~— 8zx 3xy 0 ﬁnd the equatlon of the other two -

»If F = (3x +6y)z ——14yz 1+20xz k evaluate jF dr where C is the stralght
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o :' .Frnd the d1vergence and curl of the vector pomt functron
p xyz+2x yz; 3yzk : ' ' '

. Fmd the area of the elhpse X = acosB y bsm 6
o ;.':,'Usmg Stokes theorem prove that I¢Awdr = J' rpAcbdr

- " SECTION -C (30 Marks_\,_ e . P
- Answer ALL questions - -’ Lo
ALL questtons carry EQUAL Marks ) “ (5 xX6= 30)

_Prove that the equation, 2x%~ 6y —122 +2.zx+18yz+xy 0 represents apalr RPRC AR
o of planes and ﬁnd the angle between them '
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pomts of mtersectron and the length 1ntercepted on it.

12 a AFmd equatron ofa sphere havmg its centre on the plane 4x 5. y=z=3 and

o jpassmg through the crrcle X+ y +7 - 2x 3 y+ 4z +8=0; x-= 2 y+ z= 8
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| | Fmd the equatlon of the sphere Wthh touches the lplane
gy + o) Y- z42= 0 at the pomt P(I -2 1) and also cuts orthogonally the

' sphere x + y +2—4x+6y+4=0

N ‘Flnd the equatlon of the cone c1rcumscr1b1ng the sphere | L
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- Fmd the equatron of the tangent planes to the cone 9x —4y +16z —-0 SR ‘.‘1' S
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Evaluate by green s theorem je"‘(sm ydx+ cos ydy)
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' ‘Fmd the value of the constants a b €S0 that the vector
. F= (x +2 y +‘az)z + (bx 3 y z) J + (4x +ey+ 2z)k is n'rotatronal

Usmg Stoke s theorem evaluate J' [(2x y)dx yzzdy y zdz] where C is the . -

'}:’»cncle X+ y —1 correspondmg to ~the surface of the sphee of un1t radrus
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o Use drvergence theorem to evaluate HFnds where F x i+ y ]+Z k and S " o
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'1s the surface of the sphere x + y +z = a

Frnd the coordmates of the R



